
ПРИМЕР СХЕМЫ ПОДКЛЮЧЕНИЯ ТОР 100-АЧР  
 
 
 
 

 
 

X18:1

X18:5

X18:7

X18:8

X18:11

Х15:1

Х15:3

К 1.2

К 1.1

Х15:2

Х15:4

К 1.4

ВЫЗОВ

Х15:12

Х15:13

Х15:16

Х15:15

Х15:14

Х15:11

К 1.3

СИГНАЛ 1

СИГНАЛ 2

СИГНАЛ 3

СИГНАЛ 8

Т

Т

Т

Т

Т

Т

Т

Т

VD1

VD2

VD3

VD7

VD8

СБРОС

1

X18:9

X18:14

X18:15

X18:18

X18:3
ПИТАНИЕ 

Блок №1

Х15:6

Х15:9

Х15:8

Х15:7

Х15:10

К 1.5
НЕИСПР.

(+)EH

+EH

-EH

EHP

Заземление

СИГНАЛИЗАЦИЯ

ОСЦИЛЛОГРАФ
Аналоговые цепи Дискретные цепи

СБРОС СИГН

(ВХОД 1.2)

ЗАПРЕТ АЧР

(ВХОД 1.1)

(ВХОД 1.5)

(ВХОД 1.6)

(ВХОД 1.4) 

VD4

VD5

VD6

СИГНАЛ 4

СИГНАЛ 5

СИГНАЛ 6

СИГНАЛ 7

Л
о

ги
ч
е

с
ка

я
 ч

а
с
ть

UAB

UBC

UCA

A

B

C
Блок 

трансформаторов

TV4

TV1

TV2

TV3

Uо

X0:17

X0:13

X0:14

X0:19

X0:20

Х0:15

Х0:16

Х0:18

Шины секции

SF1

3U<

t< 

БЛОК df/dt

РАЗРЕШ. ЧАПВ

UAB

UBC

UCA

UA

UB

UC

ЗМН 

ЧАПВ1

Регистратор

3U
Линейные 
напряжения

АЧР1

БЛОК. АЧР

3U< 27

f< 81U

f<< 81U

f> 81O

df/dt

f Частота

АЧР2

Скорость 
изменения 
частоты

t<

АЧР1

t<<

АЧР2

t>

ЧАПВ1

df/dt

df/dt

t<<<

АЧР3

t<<<<

АЧР4

АЧР3f<<< 81U

f<<<< 81U АЧР4

3U> 59 ЗПН (U>0,8)

Блок №1

Блок №2

K 2.2

K 2.1

K 2.3

К 2.4

К 2.5

К 2.6

X16:1

X16:2

X16:3

X16:4

X16:5

X16:6

К 2.7

X16:13

X16:14

X16:11

X16:12

X16:15

X16:16

X19:1

X19:2

X19:3

X19:4

X19:6

X19:5

X19:7

X19:8

X19:10

X19:9

X16:7

X16:8

X16:10

X16:9ФУНКЦИЯ 

ВЫХОДНЫХ РЕЛЕ 

К1.1- К1.3, К2.1-К2.7 

 ВЫБИРАЕТСЯ ИЗ:

- АЧР 1

- АЧР 2

- АЧР 3

- АЧР 4

- ЧАПВ 1

- ЧАПВ 2

- ЧАПВ 3

- ЧАПВ 4

- df/dt

  - ПУСК ЧАПВ

  - БЛОК АЧР

  - БЛОК ЧАПВ

  - БЛОК df/dt

+ EC

- EC

ПЕРЕСТРОЙКА НА АЧР

(ВХОД 1.3)

ЧАПВ2f>> 81O

ЧАПВ3f>>> 81O

ЧАПВ4f>>>> 81O

t>>>

ЧАПВ3

t>>

ЧАПВ2

ЧАПВ4

t>>>>


